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©5°120£ 2013 AT 2T2UE ~Ua0e©k 126a2T2U ©i tal  20EU @2e°8£0 D2TT20200UCSA AT ~UateoT20EU 12E6°8K
TUTPe21£T2T2U _ 2621287020

(N=%=f 1A3UY»RAT)

e A i T o e e 3 ATas0
E = B0ey W SCY ISEEHC WY 1He=-CU=13Y NN AV13U»VA
UEJ = 1ZE31301-U3Y NaTT21Y»AC SYT3YalUY»NA Junswlwb pinigb | nlnuwyhl pniot
1 2 3 4 5 6
4000 |AU_2@°UA 12Eé°d 66,065,941.7 65,615,941.7 450,000.0
3 ATas0
4050 | 2. AUA2OET 12Eé°8 X 65,630,941.7 65,615,941.7 15,000.0
3 Afas0
4100 |1.1 2pE=2T2Ugk 12802Tda0A0asU X 5,280,554.3 5,280,554.3 -
3 ATasu
4110 | _&62g@ai 1028140 2pE2T212580°8 i X 5,280,554.3 5,280,554.3 -
P21 °210280°6
&fCo™
4111 |- 2RE=T1a0Y»AC SREST2T3A0»A ~ NS T»ESTx3AY»A 4111 4,713,054.9 4,713,054.9 -
4112 |- 433 TRaUY»A, 1ABUST3Y EASE48A0UY»A N3 1asT 4112 567,499.4 567,499.4 -
Tx3AY»A
4200 |1.2 12é&20atAlasuUesLE 21 2a562UgU°dk X 25,484,536.2 25,484,536.2 -
0cég” ©da6@
3 ATasu
4210 | p28a0U2T2T20U 12E&°56 X 7,013,186.7 7,013,186.7 -
ERe
4212 |- %Y»i-»WCT 1363{a0AlasYY»h 4212 200,672.7 200,672.7 -
4213 |- TaU&sY3t 1=2é63{40Al4a0YY»A 4213 6,512,343.2 6,512,343.2 -
4214 |- T3&C 1=363(40Al46YY»h 4214 177,654.8 177,654.8 -
4215 |- 2430ai3-A3T3Y I3Eé»i 4215 6,785.0 6,785.0 -
4216 |- TalUC " e3AUSB TaRaUY»AC TSA0=T3tasAlasY 4216 115,731.0 115,731.0 -
4220 | Tas1a00asdUesk i bde220acAlasuucsE X 70,548.0 70,548.0 -
12Eé°5
&RCo™
4221 |- U»A0GY -&fTai0asuy»f 4221 48.0 48.0 -
4222 |- 2 wr3e3NU3YI3Y -anTai0aiuv»Ac - TAT I=2Eéx»h 4222 70,500.0 70,500.0 -
4230 | 420820296200 20k 12&20a0AlaUUCsE OCen X 12,936,627.8 12,936,627.8 -
“opaid
&RCo™
4231 |- P 3AEST3Y 1363(a0AlasYY» 4231 3,288.5 3,288.5 -
4232 |- p30=3T31-53ICY 1=363(40Al40YY»h 4232 32,762.0 32,762.0 -
4233 |- 2RE3WST3%UC U3eY3-Cur3T3Y 4%3h-3603Y 4233 5,605.0 5,605.0 -

1=63{a5AIa5YY»h
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i e EmER v A vy -
E = 1:5293}:!3[3 U%Ye-l‘( lei?gi;):(ﬁ:;)ﬁYi :E\'(IéﬁUIY»;A NN AYTSUYA Junswywa pintet | $nlnwiht pintgk
1 2 3 4 5 6
4234 |- DO T3TT3T3Y 1363(40Al46YY»h 4234 85,653.2 85,653.2
4235 |- T3E3T13a3T3Y 1363(40Al40YY»h 4235 10,000.0 10,000.0
4237 |- U»AT3[2640643T3Y 13Eé»i 4237 110,262.2 110,262.2
4238 |- CUnhwOnip pOnyph wy; SwrwjntpntGbtn 4239 12,689,056.9 12,689,056.9
4240 |20k @2e027£7T2120 1282020A020U0U°8E 0°eg X 72,397.5 72,397.5
o340
afico
4241 |- @36Y3-CU3T3Y 1363(40Al46YY»h 4241 72,397.5 72,397.5
4250 |AUAZOAT Uasafaod ©1 a2pa=Uaod (1363aAlasyY»fi X 4,699,488.3 4,699,488.3
" YiaoA»H)
afico
4251 |- b»YU»fAC ~ T2¢40l6Y»AC AYA=4CT Yara-ail ~ &=3N&a=vail 4251 4,426,756.2 4,426,756.2
4252 |- @»U»Y3Y»ic 63003 TafasUY»i¢ AYASOCT Yana- &l 4252 272,732.1 272,732.1
a=la=val
4260 | UUabA°s X 692,287.9 692,287.9
afico
4261 |- TA=e»YIST3ICY YiaoA»h —~ N=- 406w 4261 83,609.8 83,609.8
4264 |- TAi=Ye&ARW3ICY YidsA»h 4264 250,410.7 250,410.7
4267 |- T»Y6=30=(CY ~ N=YASICY 6YY1C YiasA»h 4267 27,687.4 27,687.4
4268 |- D3TAT YAST3T2CY 3t ViasA»h 4269 330,580.0 330,580.0
4400 |1.4 eao” ek _£2U°d X 11,641,733.8 11,641,733.8
31 A4
4410 |éao” ek, £20°8 aOTZ__TZU (p=22=200g=UED) X 11,433,333.8 11,433,333.8
12v,02To5420A0a600°8£U
afico
4411 _-_Um‘pu_mhwﬁbp n@{bhﬁu}ﬂuujl{mﬁ wtwnwywl (hwdwybpwihb) 4511 11,433,333.8 11,433,333.8
I3%LU=T»NAA0AIA0Y Y»ACY
4420 |éao” ek, £=2U°8 aa gs_i?TZT%U (24 b2@=2008=2U£0) X 208,400.0 208,400.0
12v,02To5420A0a600°8£U
afico
4421 | - UnipuhnhwOtn ng whinwu( (ng hwdwpwihl) ng 4521 208,400.0 208,400.0
YCY3YE3T3Y T3%UST»AAA0AIAYY»ACY
4500 |1.5 _82@2pUasdsples X 1,199,406.2 1,199,406.2
31 AT4U
4520 | , 2@2pUasbU°s @A==2Y:N20AU X 74,500.0 74,500.0
12v,02To5420A0a600°8£U
afico
4522 |- TSACTSE HASUSRYAANY»f UGe3t:- 3ICY 4622 74,500.0 74,500.0
I3%U3T»NAA0AIA0Y Y»ACY
4530 |AUAZOAT _52@2pUaspUos a°12T2U b2Ti21£ 20 X 1,124,906.2 1,124,906.2

22128 _2TU°s8£0U
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=t ATai0

i A EEAL A i A ey -
E = 1:5293}:!3[3 U%Ye-l‘( lei?gi;):(ﬁ:;)ﬁYi :E\'(IéﬁUIY»;A NN ATEELYA Junswywl pnigt | $nGnwiht pntgt
1 2 3 4 5 6

4531 |- AYASOCT 1A303RYAANY» &y r=T3Y -~ NSUSIVUY»AC 43 4637 22,920.0 22,920.0 -
3¢ TASICY T3RUST»AA40AI86YY»ACY

4532 |- AYASOCT 1A303RYAANY»A &»r=T3Y -~ K3USVuSIicY 4638 65,000.0 65,000.0 -
3¢ TASBICY T3RUST»AA40AI86YY»ACY

4533 | - 2t AYA=6CT 1A303/YaANY»A 4639 1,036,986.2 1,036,986.2 -

4600 |1.6 8a0£2E2T2U Ua2éTU°s <1 X 1,247,658.0 1,247,658.0 -
ToUéz2Aap2TU?s
31 A4

4630 |éao0k=E2T20 uUaAU2U | 8202120 X 1,247,658.0 1,247,658.0 -
25T2p20Ta0Al2g~ Ua2eTUed ~(aseko)
afico

4634 | - W) Gwwuwinbbp piniobihg 4729 1,247,658.0 1,247,658.0 -

4700 |1.7 20k T2Eé°s X 20,777,053.2 20,762,053.2 15,000.0
31 A4

4710 |UT£82T120AUA00USS 28 12621262120 X 709,218.6 709,218.6 -
(028252T2T20) T2V@2Tedaa0A0a00U°8EU
afico

4712 |- UTCAST T40Al40YY»fi 3 B34GIA all» 134140 4819 709,218.6 709,218.6 -
I3%U=T»NAA0AIA0Y Y»ACY

4720 gzaToa, 42612, £0 1028U°8 OTAfaGUAia, adals X 114,710.3 114,710.3 -
1262126020 1725 25 02125, 2TU°8L Ta0Zko
T£52&1a6@ U gAa0206 UT2T020~
afico

4723 |- A3AT31CA Tx3AY»A 4823 114,710.3 114,710.3 -

4760 |2UE 12Eé°8 X 16,464,391.8 16,464,391.8 -
afico

4761 |- 2k I3Eé»h 4861 16,464,391.8 16,464,391.8 -

4770 | &42paveT20kU BEeaoU°d X 3,488,732.5 3,473,732.5 15,000.0
afico

4771 |- a3Na66=3ICY UCcadY»h 4891 3,488,732.5 3,473,732.5 15,000.0

5000 |~.aa ukU20&2T20 2TTATUCSE 1141 X 13,816,000.0 - 13,816,000.0
12E8°5
31 AT4U

5100 |1.1 pAGU2T2U ghzadoU°s X 13,796,000.0 - 13,796,000.0
31 ATa0

5110 |p2Ug®s @i bE£UaAUaUUCS X 12,170,832.7 - 12,170,832.7
afico

5111 |- Gklpknh L 2hbnipynibbEnh dGrppEnnLd 5111 1,441,869.0 - 1,441,869.0

5112 |- b»YU»fiG ** RCYABAIAGYY»AC T=é45645U 5112 5,988,890.0 - 5,988,890.0

5113 |- b»YU»fAC ~ BCYASAIAIYY»AC TSACTSE T»A3Y4aR4 - 4iU 5113 4,740,073.7 - 4,740,073.7

5120 |@eg°U20°8 i &25921adaipU°d X 1,306,367.3 - 1,306,367.3
afico
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=t ATai0

i e EmER v A vy -
E = 1:5293}:!3[3 U%Ye-l‘( lei?gi;):(ﬁ:;)ﬁYi :E\'(IéﬁUIY»;A NN AYTSUYA Junswywa pintet | $nlnwiht pintgk
1 2 3 4 5 6
5121 |- TASYEAART=ICY 63AU3TaMAUY»A 5121 37,500.0 - 37,500.0
5122 |- T3AEST3Y 63A03Taa0Y»A 5122 135,169.0 - 135,169.0
5123 |- 2l U»U»Y3Y»fi " 63A03 Tana0Y»h 5129 1,133,698.3 - 1,133,698.3
5130 |2Ut pEGU2T2U BzadU°s X 318,800.0 - 318,800.0
afico
5132 |- &i YiasA=1=Y NCUYST3Y UCcadY»fi 5132 1,000.0 - 1,000.0
5134 |- UE=- 130> 13%AT3T3Y [SEé»fi 5134 317,800.0 - 317,800.0
5200 |1.2 42p25U°s X 20,000.0 - 20,000.0
31 AT4U
5221 |- UldsA»f = &=3/=-3Y»f 5221 20,000.0 - 20,000.0
6000 | 9. aa ukU20é2T20 2TTATUCBE £520200K0 X (13,381,000.0) - (13,381,000.0)
PaoTe°d
31 AT4U
6100 |PEGU2T2U BA=a0UCHE £B520A00/E0 BATEOD X (1,800,000.0) - (1,800,000.0)
31 A4
6110 |20p=28A Taslek £520200/E0 BAdTEOd 8111 (1,800,000.0) - (1,800,000.0)
6400 |425T2_8121 2TTEIUCSE £520200K0 X (11,581,000.0) - (11,581,000.0)
PaoTe°d
31 A4
6410 |Pa0K £B20A0QEO BATECd 8411 (11,581,000.0) - (11,581,000.0)
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